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39 TH-U7 4 38 ¥ &1 q¥t 397 7fart
Y¥-97 e @usl § [uifora 8 - @vs &, @, T, 9 AT g |
Gue & H Y G&A1 1 § 18 T%F glashedia adl 97 G847 19 TF 20 AWHIT T FHRIT
TR TH-Teh 37 & I97 81
Gus @ § Y37 &A1 21 § 25 a9 3fd ag-3a90F (VSA) T#R & gl-gl 3l & 997 8|
@UE T 4 I3 GEAT 26 @ 31 dF AG-IRI (SA) IHR F -7 3l & g9 81
QUs g § Y97 G&q1 32 35 % G-3RI (LA) IR & Gra-qi< 3l & I3 3/
GUg T I Y99 G&IT 36 G 38 GId/ThIUT ShT3 STLUTRA TR-TR 37l & J97 8/ 37alke
fareheq 21—t 37ehl & J39 7 faar 81
Y99-97 § GHY fahey a1 fod1 797 81 IEfU, @S & & 2 Yvl °, @US T & 2 Il 4,
GUS T & 2 Y9I § a9T U8 € & 3 ¥ 7 R fdeheq &7 Jiae foar w2 81
g STEVIF & TS ARG FHIY | AlG TawF & @ w=22/7 Wl
FAFI HT IFINT Fford 3l
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1.

WE@@W%WWP(E#D:%%,?ﬁP(E)W%: 1
@ < ®) © 0 @ 3
qﬁagqﬁp(x)zx2+5x+6%,ﬁ p(=2)FUNAE : 1
(a) 20 (b) 0 (c) -8 d) 8

st 2,3,3,4,5,4,4,5,3,4,2,6,7 % G5F ¢ 1
(a) 2 (b) 3 (c) 4 (d) 5

T ga W oo w forg @ g9 T TRt TRt YTl @i S weRdt B 7 1
(a) T (b) @ (c) 3% (d) T

e femma wieRtr, fomert e gt 2 SR gel o 9w S R, R 1
(@) X*+4=0 (b) X*—2=0

(c) 4x*—1=0 (d) x¥*—4=0

= ° 9, feama wfie adie ? 1
(@) 2(x-1)=4x*—2x+1 (b) 2x —x*=x*+5

(©) (V2x+3)Y+x*=3x"=5x (d) (F+2x)° =x"+3 +4x°

T fgama afiertor foreh S[rel T AT 3R UGS hAS: 2 3R -1 %, 7 ¢ 1

(@) x*+2x+1 (b) x*-2x-1 (c) x*+2x—1 (d) x*-2x+1
E2E
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General Instructions :

Read the following instructions carefully and follow them :

This question paper contains 38 questions. All questions are compulsory.

Question paper is divided into FIVE sections - Section A, B, C, D and E.

In section A, question number 1 to 18 are multiple choice questions (MCQs) and

question number 19 and 20 are Assertion - Reason based questions of 1 mark each.

In section B, question number 21 to 25 are very short answer (VSA) type questions

of 2 marks each.

In section C, question number 26 to 31 are short answer (SA) type questions

carrying 3 marks each.

In section D, question number 32 to 35 are long answer (LA) type questions

carrying 5 marks each.

7. In section E, question number 36 to 38 are case based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in 2
marks question in each case study.

8. There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions in Section E.

9. Draw neat figures wherever required. Take m = 22/7 wherever required if not

S A W~

stated.
10. Use of calculators is not allowed.
SECTION - A
Section - A consists of Multiple Choice type questions of 1 mark each.
1. Let E be an event such that P(not E) :%, then P(E) is equal to : 1
1 2 4
@ 3 b) 3 (c) O d 3
2. If p (x) =x*+ 5x + 6, then p (— 2) is : 1
(a) 20 (b) 0 (c) -8 (d) 8
3. The mode of the numbers 2, 3,3,4,5,4,4,5,3,4,2,6,71s: 1
(a) 2 (b) 3 (c) 4 (d 5
4. How many tangents can be drawn to a circle from a point on it ? 1
(a) One (b) Two (¢) Infinite (d) Zero
5. A quadratic equation whose one root is 2 and the sum of whose roots is
Zero, 1s: 1

(@) x¥*+4=0 () x*-2=0 (c) 4’-1=0 (d) x*-4=0

6. Which of the following is not a quadratic equation ? 1
(@) 2(x-1)y=4x*-2x+1 (b) 2x— x?=x*+5
©) (M2x+3)P+x=32-5x (d) P+’ =x"+3+4x°

7. A quadratic polynomial whose sum and product of zeroes are 2 and —1
respectively is : 1

(@) xX*+2x+1 (b) x*-2x—-1 (¢) x*+2x—-1 (d) x*-2x+1

E5E
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8.  H&ATEAT 30 3R 70 & forw (HCF x LCM) sRIeX 2 :
(a) 2100 (b) 21 (¢) 210 (d) 70
9. = 14 ot It g9 A T T A TEE, I F hg W 60° F R
ANa F@T 3§, B
(a) %@ﬁr (b) %@ﬁ ©) %aﬁr (d) %aﬁ
10. U STIIARR =g i BisAn Al 7 T, 2, @ 39 =g 1 qHATT BT
(@) 113, (b) 145, (c) 22 (d) 36
1. 15 33 d F we- g @ 153 . 6 gl W o ok fig & v &
TareR =1 39T ww R
(a) 30° (b) 45° (c) 60° (d) 90°
12. (% sin0° —% cosooj T R
2 —4 ~2
@ 3 ®) —- (c) O Gy
13. 52 udi 6t 7<= YRR T HBA TS U T H ¥ U U ArgesAT R S |
3G YA o U o1 SEIME B ohl ATRrehdl 1 8 7
1 1 1 12
(a) 5 (b) 2% (c) E (d) E
14. T (5-3/5+/5) % :
(a) Uik 2 (b) Wl ez (c) ufwm e (d) qof 9= 8
15, ax-—y=lx+hy=5SRersaflrmgmwm afgdasax=2,y=128, @
ks aM B
(a) —2 (b) -3 (c) 3 (d) 4
16. afe AABC ~ADEF g 3t LA =47°, /ZE=83°%, d ZC s 2 :
(a) 47° (b) 50° (c) 83° (d) 130°
17. 3 &, o 9 v g9 % U 9@ fig A @ dieh T ww W i aers
sTd. 2 qm R fog AR gh?:
(a) 7 @t (b) 5 T, (c) 7. (d) 25 @,
18. x+2y+5=03MR-3x—6y+ 1 =0 Ras Tfiero 9 &1/ :
(a) g g e & (b) 3t 3l & &
(c) ¥ & & (d) =TS g &I B B
430/4/2 4 e
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16.
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(HCF x LCM) for the numbers 30 and 70 is :
(a) 2100 (b) 21 (c) 210 (d) 70

The length of the arc of a circle of radius 14 cm which subtends an angle of

60° at the centre of the circle is :

(a) % cm (b) 8—38 cm (©) % cm (d) % cm

If the radius of a semi-circular protractor is 7cm, then its perimeter is :
(a) I1cm (b) 14cm (c) 22cm (d) 36cm

The angle of elevation of the top of a 15 m high tower at a point 15 J3m
away from the base of the tower is :

(a) 30° (b) 45° (c) 60° (d) 90°

[% sin0° —g cosooj is equal to:

@) 3 0 2 © 0 @ 72

From a well-shuffled deck of 52 cards, a card is drawn at random. What is
the probability of getting king of hearts ?

@) < b) 5 © 15 @ 13

The number (5 — 3\/§+\/§) 1s
(a) an integer (b) arational number
(c) an irrational number (d) a whole number

If the pair of linear equations x —y = 1, x + ky = 5 has a unique solution
x =2,y =1, then the value of k is :
(@) =2 (b -3 (c) 3 (d) 4

If AABC ~ ADEF and ZA =47°, ZE = 83°, then ZC is equal :
(a) 47° (b) 50° (c) 83° (d 130°

The length of the tangent from an external point A to a circle, of radius
3 cm, is 4 cm. The distance of A from the centre of the circle is :

(a) 7cm (b) Scm (c) 7cm (d) 25cm
The pair of linear equations x +2y +5=0and —3x—6y+ 1 =0 has :
(a) aunique solution (b) exactly two solutions

(c) infinitely many solutions (d) no solution
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T HEAT 19 991 20 H TH e (A) % 9¢ T dw-wed (R) fem g i d @
Hﬁ%ﬁqﬂﬁﬂ:
(a) IfrheA (A) @1 @ (R) gHT T &1 as (R), 1feped (A) i gt =ame s 2|
(b) AfReA (A) @1 @ (R) gHT T 81 @ (R), 31fuhed (A) i Samen T&f L 2|
(c) AfRYA (A) I ® 9g d (R) 319H 7|
(d) stfiepem (A) @1@c @ Sk @ (R) &d 2l
19. sifteRem (A) : afg fgama st 40 — 10x + (k — 4) = 0 1 T 4 g
T T GoshA B, a1 k 1 A 8 BRI
ek (R) : feama wefiewor x> — x + 1 = 0 % 9o ar&dfa 2|
20.  SITRAT (A) : IA o TRt forg o Tavt W@ wowi foig © S At s W aE
it 2
H (R) : TF 90 & aTeL feod U foig & 30 W @i= T3 ©=i {@neti h awrg
THETH B 2|

T g - @

@UE - @ | T TY-3IW (VSA) ThR & T & 3R Tedeh T o 2 37 2|

21, (A) o o 3x2—2x+%=0$rﬁ|ﬁ?rﬂ?{§lﬁaﬁﬁm3ﬁ1ﬁ?{3‘éﬁ€ﬂ§ﬁ
=1 el FTd =hifrg|

HYAT
(B) fgama @efiertor x> —x — 2 = 0 % 9 714 hifu)

22. W@ H S ST § wEM: OP, OQ 3R OR W feuq -
fog A, B 3R C 38 Y& 2 T ABJ|[PQ 3R AC||PR 2|
zafsT f BC|IQR 2!

j 1

{ ~H [ |

! W
P A— T

23. aﬁsina=%%,?ﬁ(3 cos o — 4 cos’ o) T TH T HIfr)

24.  (A) 39 foig & fceie F@ HR S fogati A (-1, 7) 3R B (4, —=3) & Sied
TS TWTEE 1 AN €9 T 2 : 3 % A9 § faarfora =t 2
HAYAT
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(Assertion - Reason type questions)

In question numbers 19 and 20, a statement of Assertion (A) is followed by a

statement of Reason (R). Choose the correct option :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) gives the
correct explanation of Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true but Reason (R) does not give
the correct explanation of Assertion (A).

() Assertion (A) is true but Reason (R) is false.

(d)  Assertion (A) is false but Reason (R) is true.

19.  Assertion (A) : If one root of the quadratic equation 4x* — 10x + (k —4) =0
is reciprocal of the other, then value of k is 8.
Reason (R) : Roots of the quadratic equation x> — x + 1 = 0 are real. 1

20.  Assertion (A) : A tangent to a circle is perpendicular to the radius through
the point of contact.
Reason (R) : The lengths of tangents drawn from an external point to a
circle are equal. 1

SECTION - B
Section - B comprises of Very Short Answer (VSA) questions of 2 marks each.

21. (A) Find the discriminant of the quadratic equation 3x* — 2x + Ty and

3
hence find the nature of its roots. 2
OR
(B) Find the roots of the quadratic equation x* —x — 2 = 0. 2
22. In the adjoining figure, A, B and C are points on '
OP, OQ and OR respectively such that AB|PQ and
AC||PR. Show that BC||QR. 2
F o
AR
o
at - P
23. Ifsina= 1 then find the value of (3 cos o — 4 cos’ o). 2

27
24. (A) Find the coordinates of the point which divides the join of

A (-1, 7) and B (4, -3) in the ratio 2 : 3. 2
OR

E5E
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(B) afc g A (2, 3), B (-5, 6), C (6, 7) 3R D (p, 4) T% THIR =Fg4s
ABCD % 3fi¥ &, @ p &1 0 31d hiferg|

aTfa § gt 1gER, PA 3R PB 90 W @ iy
@ & 3 99 1 %5 O B /1“* N
fog Ffe & ZAPB =2 Z0AB o |' H‘x.-. j
ma | /.-’ /I
T
\(_
@ug - T

@UE - T H TY-3W (SA) THR % T97 § 3R Tk T o 3 3k 2|

26. T 7 @ft. 91 U g9 o SU@E F AFRA A hISIT, TSTEHR hg hil
90° B T &1, TG <™ euge w1 &%a o 79 Hifg)

27. A o, B fgEmd e x? — 5x + 6 % YA 7, A Uk fgETd SHISROT AT
28. & U I Uk IR Sehl S 2| efalaa & ama s i wilesan wma il
(i) s gn FasT g (i) 4 9 9 qE (iii) e fowm gemn

2. fag bR TACA_2a
I+cot A
30. (A) fag Fife o @ fog @ 99 = @i=t 7§ ww
Tt it ArETS S il 7
T
(B) g O % @1 Hehg Il hl BsAg 3 &l 3R
s @ft. 8| 9 I HT Sftar AB, S B I HI g &
P W Tusf el B, <l AFTg a shife v
3, A)IRTFH TS AT 1 TIam|ETT 1 ger ¢, d@ i 1 ¥ Jea St
Raf w1 e d, A o A o ¥ e fom 2 7
Ny
(B) ‘&> form o & fotu fer Waes wftertor 3m =1 18 g & Bom 7
3x+y=1
Qk—1)x+ (k- 1)y=2k+1
430/4/2 8 e
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(B) If the points A (2, 3), B (-5, 6), C (6, 7) and D (p, 4) are the vertices of
a parallelogram ABCD, find the value of p.

PA and PB are tangents drawn to the circle A f,f”f 3
with centre O as shown in the figure. / b, \\
Prove that ZAPB =2 ZOAB. ] b h
< L2 )
N
SECTION - C '

Section - C comprises of Short Answer (SA) type questions of 3 marks each.

26.

27.

28.

29.

30.

31.

E5E
430/4/2 9 it [P.T.O.

Find the area of the sector of a circle of radius 7 cm and of central angle 90°.
Also, find the area of corresponding major sector.

If o, B are zeroes of the quadratic polynomial x* — 5x + 6, form another

quadratic polynomial whose zeroes are é, B .
A die is rolled once. Find the probability of getting :
(1) an even prime number.

(1) anumber greater than 4.
(ii1) an odd number.

2
Prove that T+tan A _ sec’ A —1

1+cot’A

(A) Prove that the lengths of tangents drawn from an
external point to a circle are equal.
OR
(B) Two concentric circles with centre O are of radii e
3 cm and 5 cm. Find the length of chord AB of
the larger circle which touches the smaller circle

(A) If we add 1 to the numerator and subtract 1 from the denominator, a

fraction reduces to 1. It becomes % if we only add 1 to the

denominator. What is the fraction ?
OR
(B) For which value of ‘4> will the following pair of linear equations have
no solution ?
3x+y=1
Rk-D)x+k-1)y=2k+1
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32.  (A) T A.P. f9&h g 3l el ug sl 14 3 18 2, % U8 51 Ual

AN 1 I
T
(B) T% A.P. %I Ugdl Ug 5, A" g 45 TR |efl ugl =1 AW 400 7| UGi 6
T 3R 91E T [T iy
33. N fou s § ws e & 30 fornfdEi & ww < fom e R
IR
(e, ) 40-45 | 45-50 | 50-55 | 55-60| 60-65 | 65-70 | 70-75
bl 2 3 8 6 6 3 2
i T
Teramfefat =61 wrems wR Tma il
34. UH qW fora @ ° o 9w R A HsEE A T
TN & AU Sfer @ & W T dfaer F i w [ b ea

o SRR o A BRI @ e seeR 2l £ g
émwwaﬁamﬁ7ﬁ.aﬁtsaﬁﬁw%ﬁr.

2l

IR F FA I8 &FFA AT A [ hINT
TR 5 & A I, T MR G5 &+
ST & g off Fma A e L

35. (A) T% THdd I W @ TR i srn 3w feafa § 40 oY, e1foe &t g8
STt & S gd 1 3Far (altitude) 60° & BeR 30° 7 ST Bl HHER hit
4TS {1 Hi

BPC]
(B) 7 . 3= o & IR ¥ T el 2k o R 1 3989 F07 60° 7 31
Tk UTE 1 STTTHA IV 45° | 2 i HaT8 ATd it

430/4/2 10 i



Ok0]
L
B

SECTION - D
Section - D comprises of Long Answer (LA) type questions of S marks each.

32. (A) Find the sum of first 51 terms of an A.P. whose second and third terms

are 14 and 18, respectively. 5
OR
(B) The first term of an A.P. is 5, the last term is 45 and the sum is 400.
Find the number of terms and the common difference. 5

33. The distribution below gives the weights of 30 students of a class. Find the
median weight of the students : 5

Weight

) 40-45 | 45-50 | 50-55 55-60 | 60-65 | 65-70 | 70-75
in kg

Number

of Students 2 3 8 6 6 3 2

34. The boilers are used in thermal power plants to store .~ T
water and then used to produce steam. One such boiler 3
consists of a cylindrical part in middle and two |
hemispherical parts at its both ends.

Length of the cylindrical part is 7m and radius of

cylindrical part is %m.

Find the total surface area and the volume of the
boiler. Also, find the ratio of the volume of cylindrical
part to the volume of one hemispherical part. 5

35. (A) The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it was 60°. Find the
height of the tower. 5
OR
(B) From the top of a 7 m high building, the angle of elevation of the top of
a cable tower is 60° and the angle of depression of its foot is 45°.
Determine the height of the tower. 5

E5E
430/4/2 11 it [P.T.O.
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36.
==
B 2.4 %5 ol 5 4.8 wnft, R’
||"1=ﬁ' '.'rl“\‘lf I|r/lén Fl:r'l'“lII
oF 2 £ I I
£l L \ [
iy { b | &
| 15 101 ay -g-\ || ik
o L2EE || 105 oo’ |I
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2.4 #ft, ?
% (1) = (i1)
CERCH
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15t
T (V)

(i) g fa= wase e gF1 Sehfaar TR ey 2

(i) % fo= wase e g1 sefaar gatmaw g1

(iil) (a) forg il for watmem Sys guey ot g & oeg fouda &)
arera

(b) T TmEY Byl ot watmaw g9 % fow &9 @ *9 F M fen g
feu ?
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SECTION - E
Section - E comprises of 3 Case Study / Passage Based questions of 4 marks
each.
36. Observe the figures given below carefully and answer the questions :

430/4/2

Figure A

I 24 cm 5 4.8 cm K

) ,,,Fu :H,ﬂ - i\l F

=] il
||_ 105 10 _
.||-H'| |
| 24 cm .
A (1) A (i1)
Figure B
] 15em Lo 5 3 o R
[ L] ] L
| = Ll — [
A 3Jom B fr 3 em y
B (iii) B (iv)
Figure C
'IF
E f{\ Bt
=f
i
.-"l
it — K
B
C(v) C (vi)

(1) Name the figure(s) wherein two figures are similar.
(1) Name the figure(s) wherein the figures are congruent.
(1) (a) Prove that congruent triangles are also similar but not the

converse.
OR
(b) What more is least needed for two similar triangles to be
congruent ?

13 e [P.T.O.
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37. AR %3 HAl de WIEEA Shid 1 TEHTA i T @i Ht ST FASR R
fig @ 81 oar 21 9= e “PUBG” Wor R ofd o St ?, Siedl &
TR & S @l PUBG ©WeH o X
RO o IR H AR SIRTEshdl Di1, §) Cl7, 5)
TeH & fau, s famem ‘BAN
PUBG’ &fWa g& i et BAN PUBG
Al g, G = H HAEAER &
ANFIE Tt S Sl haEdl 2| hel Ry R0
X % e foeneff gro o e SAfwm
el EER:RHCIERI ] i

AL 1) B(7, 1)

SUUTH THHR o YR T, 7 I & 3 G
(i) oot AC @ BD & wfteaed foag & fdame qma Hifs)
(i) Tt AC it g wma il
(iii) (a) AR Tt ABCD &1 &5%d [1d shiferg|
JroraT
(b) S AB &l @wTg 1 31U, Tl AC it araé @, 7ma Al

38. @t s Sl A Uil w1 STRISH
T TTEdl 8| TSI & Yid SIeeh gH
& HHT, 98 Uf H hadl B & T
F HEa A 2l T8 36 T AR 60
*el Tied! 3 3R Tkl THEHH 9T H
& 24 1 ol et Rl

SUTH THHRT o AR W, 7 I & 3 G

(i) ferepam foran eafafyr, weft stmfa o wed) B ?

(i) Sk SAfafer =i feha T 3N el WTH B P

(iii) (a) 3fE G 42 W R FSA A&, AT AR fohar AT a8 JTHEE
L TRt B 7

arera
(b) IfE 1 &5 el 1 Yed 60 %., 1 TF & oI 15 & AR 1 W &

Tod 20 . 7, A 60 ohel, 36 T AR 42 AW @lEH o fofw ferat Uiyt
T AT BRI ?
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Use of mobile screen for long hours makes your eye sight weak and give you
headaches. Children who are addicted to play “PUBG’’ can get easily
stressed out. To raise social b §

awareness about ill effects of Dil. 5) Ci7, 5
playing PUBG, a school decided
to start ‘BAN PUBG’ campaign,
in which students are asked to BAN PUBCG
prepare campaign board in the &
shape of a rectangle. One such SAYE KIDS
campaign board made by class X
student of the school is shown in Al D Bi(7, 1)
the figure. X'

Based on the above information, answer the following questions :
(i) Find the coordinates of the point of intersection of diagonals AC and
BD.
(i1) Find the length of the diagonal AC.
(i) (a) Find the area of the campaign Board ABCD.
OR
(b) Find the ratio of the length of side AB to the length of the
diagonal AC.

Khushi wants to organize her birthday
party. Being health conscious, she
decided to serve only fruits in her
birthday party. She bought 36 apples
and 60 bananas and decided to
distribute fruits equally among all.

Based on the above information, answer the following questions :

(i) How many guests Khushi can invite at the most ?

(i) How many apples and bananas will each guest get ?

(i) (a) If Khushi decides to add 42 mangoes, how many guests Khushi can
invite at the most ?

OR
(b) Ifthe cost of 1 dozen of bananas is I 60, the cost of 1 apple is I 15

and cost of 1 mango is I 20, find the total amount spent on
60 bananas, 36 apples and 42 mangoes.

E5E
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